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Note :– This paper is of Seventy (70) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA



K–9 33 ( 2 )

Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. What is micro economics ? Explain the importance and

limitations of micro economic analysis.

O;f"V vFkZ'kkL= D;k gS \ O;f"V vk£Fkd fo'ys"k.k ds egRo rFkk

lhekvksa dh O;k[;k dhft,A

2. What do you mean by Budget Line ? Explain the state

of consumer equilibrium with the help of indifference

curve.

ctV js[kk ls vki D;k le>rs gSa \ vuf/keku oØ dh lgk;rk

ls miHkksDrk lUrqyu dh fLFkfr dks Li"V dhft,A
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3. How is combined profit maximized under a cartel ?

And tell the reasons due to which there is a possibility

of breaking the Cartel.

dkVsZy ds vUrxZr la;qDr ykHk vf/kdre dSls gksrk gS \ rFkk mu

dkj.kksa dks crkb, ftuls dksVsZy VwVus dh lEHkkouk jgrh gSA

4. Critically examine the Ricardian Theory of Rent.

fjdkMksZ ds yxku fl¼kUr dh vkykspukRed O;k[;k dhft,A

5. Critically evaluate Arrow’s theory of social selection.

lkekftd p;u ij ,sjks ds fl¼kUr dh vkykspukRed ewY;kadu

dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA



K–9 33 ( 4 )

1. What is the difference between static and dynamic

equilibrium ?

LFkSfrd ,oa izkoSfxd lUrqyu esa D;k vUrj gS \

2. Explain the concept of Engel’s curve.

,safty oØ dh /kkj.kk dks Li"V dhft,a

3. Explain the Marginal Rate of Technical Substitution.

rduhdh izfrLFkkiu dh lhekUr nj dh O;k[;k dhft,A

4. Explain in detail the short run and long run equilibrium

under monopoly.

,dkf/kdkj ds varxZr vYidkyhu o nh?kZdkyhu larqyu dks

foLrkj ls le>kb,A

5. What are the different stages of returns to scale ?

iSekus ds izfrQy dh fofHkUu voLFkk,¡ dkSu&dkSulh gSa \

6. Explain the equilibrium of the firm with the help of

Total Revenue Curve and Total Cost Curve.

QeZ ds lUrqyu dks dqy vkxe oØ vkSj dqy ykxr oØ dh

lgk;rk ls le>kb,A

7. What do you mean by New Welfare Economics ?

uohu dY;k.kdkjh vFkZ'kkL= ls vki D;k le>rs gSa \

8. Explain the Innovation theory of Profit.

ykHk ds uoizorZu fl¼kUr dh O;k[;k dhft,A

**************


